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- 2 % RS-485

— Modbus RTU /ASCI;

- 4800 - 115200 bps, (N-8-1), (E-8-1),(0-8-1)
3 =7 N
- 14 Led , fE7REBIEFIEIT
- fBE
- 1500VDC
. P
- EMI : &2 fcc a kB ce 4 ;
- BR;
- RIEFRP

- +7V 30VDC

- 0.5W {EIh#E
o HUWRY ;

- DIN32 &%, iRMEFINRER

— 100mm X 120mm X 26mm
- INE

- T{RREE : -25to +75°C;

- (REEE : -45 to +85°C;

DAM1000 8 i@EIMESENELIMA 10 &R

 tnfE Modbus RTU 8¢ Modbus ASCII ;

8 PENEINEBMNEE , BEHIRIEKE ;

- BESHFRIA : B, BE, AEE
- ZREST , BIIP  RERT
- WEE , {IFER

1500VDC &=l SE=IRHE, BiEaifif 25VDC ;
ETAFEE : 7-30VDC, EEIRRIERP ;

- BI/ERE :-25 75°C;

EMI : i fcc a 8, ce 4% ;
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s SNEDHMNEE

o THEOEEE J, K T,E R S, B, N, C

s XEMPEBE, £16mV/ £32mV/ £64mV/ £128mV/
+256mV/+£512mV/+1V/+2V

THERUERTR . £20mA(GME 100Q)/ +20mA(JME 50Q)
A/D DR | 16 fi

ZEFEE , 0.1% (FSR)

SEHEEER |, 10 X/FD

NS - BB , PAEE(E >2MQ |, Ei7 100/50Q
BEEHERE : 25VDC

J #vB1{8 -210 ~1200°C
K #E8{% -200 ~1370°C
T #AE8(8 -250 ~400°C
E #E{8 -250 ~1000°C
R #4818 -20 ~1750°C
S #E{8 -20 ~1750°C
B #wEB{% 100 ~ 1800°C
N #E{8 -200 ~ 1300°C
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